a5 LYl zralinll 2850 (po ila] faa Jrasnd

ailyla Bl 2811

almahahj.com/ae

s Lba¥l gl gl s jas (46 L) dalod) uslsd) £ oW e g V) dlasd) ol

L3l Jaidl = lanll 6 dpjae lils ¢ a5l LY zeliall & zalis)l 236

T i alile ooy gelaiz¥) Jolsill 28150 bl

dae N d i)

dolxdl ddasd| L jne



https://almanahj.com/ae/pages/search?teacher_name=مدرسة أبو أيوب الأنصاري
https://almanahj.com/ae/416schools1
https://almanahj.com/ae/416schools
https://almanahj.com/ae/416
https://almanahj.com/ae
https://almanahj.com
https://t.me/almanahj_bot
https://almanahj.com/ae/id=22460
https://almanahj.com/ae/id=19411
https://almanahj.com/ae/id=19411
https://almanahj.com/ae/id=19410
https://almanahj.com/ae/id=19410
https://almanahj.com/ae/id=19409
https://almanahj.com/ae/id=19409
https://almanahj.com/ae/id=19408
https://almanahj.com/ae/id=19408
http://www.tcpdf.org

¢l sl -+ 3ala

egall z 54 g yac -1 ALY alae

0563949152




r _- c.L\).\S.“ pala | 1

ngm]\ Z R see - ALY slae !
0563949152

ke ile Al
K i J



Page
42

Find slopes and intercepts of a position-time graph to analyze motion Example 1
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|dentify the significant digits in a given number | Pige Q12
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a:10.8 - 8.264 = 2.536 =2.54 " 1() § g - 8264 g.a
b:4.75-0.4168 = 4.3332=4.33m 4.75m-0.4168 m .b
c:139 x 2.3=319.7=32x102em? 139 cmXx 23 ¢cm.C




Caleulate the instantaneous acceleration from a velocity-time graph Page (56
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Interpret a position-time graph that represents the motion of a single object Page Q11,12,1P

42
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Interpret a position-time graph that represents the motion of a single object 49 Q11,12,1P
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Interpret a position-time graph that represents the motion of a single object

Q11,12,18
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C: Ax = Xx¢- X; l Ax = (50m)- (100m) Ax = —=50m




Apply the alternative equation of motion relating an object’'s final velocity to its initial P;ge Example 4 ‘

velocity, its constant aceleration, and its initial and final positions (v2f = v2i + 2a(xf - xi))
.
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Apply the equation of motion relating the final position of an object to its initial position,

initial velocity, uniform acceleration, and time (xf = xi + vitf + (1/2)atf2) Example 5
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Determine displacement using vector addition or subtraction in one dimension Page Q12
Define and calculate the average velocity using a suitable mathematical representation 67
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Apply the equation of motion, (xf = vavgt + xi) or (xf - xi = vavgt), in numerical problems to calculate the position Page
or other physical quantities 78
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Apply the equation of motion relating the final velocity of an object to its initial velocity, uniform acceleration, and time (vf = vi + at) Page Q16,17
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Apply the equation of motion relating the final velocity of an object to its initial velocity, uniform acceleration, and time (vf = vi+ at) 69 Q617
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Interpret a position-time graph that represents the motion of a single object P gie Q60
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Apply the equations of motion for objects under free fall, to calculate the unknown parameters Page Q49
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Calculate the displacement as the area under the curve of a velocity-time graph Page Example 3
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Calculate average velocity (magnitude and direction) from the slope of a position-time P ge

70,5,3
graph during a certain time interval and instantaneous velocity from the slope of a positiontime graph at a certain instant 5 / 57 S
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Calculate the acceleration from the slope of the velocity-time graph hage Q2
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18 Determine displacement using vector addition or subtraction in one dimension Example of vector addition 40

08 aa) 3Y1 5 asliall (e 5,8l L
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5cm 10 cm
ﬁ—
AX= 5+4+10 = 15 cm (& 43)

L=54+10=15cm
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Solve problems using the combination of equations of motion for constant acceleration Q41, 43
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Solve problems using the combination of equations of motion for constant acceleration Q41,43
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20 ‘ Describe the motion of an object under free fall during its rising and falling motion ‘ Figures 21, 22 ‘ 76,77
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